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AL Triestostop anobject whien it's moving:
;Y:M-How_nnmi_l_fm'pe-;iq keep an object sliding.
;‘L'Slows down a sliding object.

Caleulate with .

\C Car tires when they “spin-otst™.
% Reqiires Fy to caleulate.

3 How much 1t takes to start-an object sliding.

More or less fiction?

A M On a rougher surface.

B. _ﬂ It Fymcreases,

¢ L If the surface 1s smoothar.

D L— If e as less.

E. A 1f the object has more mass,

k.. _M__'_Iﬁ you push down on the object,
G. L Ifyou pull up on the object.

B YV\ If 1 increases.
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IfFy =25 Nand =13, caleulate kinetic fiction,

7. A How niich force is ﬁ'eéé‘é.é;éry
B.:How nuch fores 15 mtecess
C. I ststiits atrest, will 1t start shidig?
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8 A Does theobject stir sliding?’ \/\ 6

B.. 1ty liow el extra forcé is necessary?
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C. Mitigmoviag caleulate the acceleration of the object?
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19 A Calculate thie normal force o the: abject.
B. Calevlate-botl stam and Kinetic Fiction.

Fo- 0.d- oM AN
Fy = 0.1 -V = 10N
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' Dogs the object stagt nioving?
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B. Usiilg'ﬁg. calculate F, and Fi.
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Fs=
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C. Will theobject slide? f/O

: D. Caleulate fhe Sﬁelemﬁon if it is‘moving D, Calénlats the accéleration of the object if it does slide.
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